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z=2(k—i) - k(1 +i)>

= 2k — 2i — 2ki

= 2k — (2 + 2k)i
5] HEo] 002 H 2 + 2k = 0 ©]oJoF G},
A k= -1




6. AFx, yol tote] (1+ix+ (i-1)y =2, x+y°] g-27 (
i=+vV-1)

@1 (@)2 ® 3 @ 4 ® 5

QI+idx+(G-1)y=2i
(x=y)+ (ery)l:?l




7. i4+22+384 4500 9 Fe?

® -26 — 25i (@)—26 + 250 ® 0

@ -25+ 26i ® 25+ 26i

B

i+ 2i% 4 3% 4 -+ 4 50i°°

= {i+2-(-1)+3-(-i)+4-1} +
{5i+6-(-1)+7-(-i)+8-1}

+ o+ {45i + 46 - (-1) + 47 - (—i) +48 -1} +49i + 50 - (-1)
12(2 - 2i) + 49i — 50 = —26 + 25i




8.

~&B

AFHA 5 - 12i 7} He BASE?

D +(2+ 30) @ +(2 - 3i) @)+(3-2i)
@ +(3+ 3i) ® +(3+3i)

FolEE BA5S atbi(a, b= AR EoHA
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